Assignment #2856 English 9 Academic Test 2 Name:

1)

2)

3)

4)

Date:

Choose the word that is spelled correctly to complete the sentence. This sports car
can only two passengers.

(A) accommodate

(B) accomondate

(C) accomodate

(D) accommadate

Read the sentence carefully. Which of the underlined words is spelled incorrectly?
If all the words are spelled correctly, choose “No mistake.” At the begining of the
school year, the students will find out their schedules.

(A) begining

(B) students

(C) schedules

(D) no mistake

Read the sentence carefully. Which of the underlined words is spelled incorrectly?
If all the words are spelled correctly, choose “No mistake.” Kate’s nieghbor
telephoned her to ask if Kate could babysit the triplets.

(A) nieghbor

(B) telephoned

(C) triplets

(D) No mistake.

The word “futile” means
(A) useless

(B) foolish

(C) exhausting

(D) unwise
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Assignment #111629 Solution - English Name:

9 Academic Test 2 Date:
Question Answer
1 A
2 A
3 A
4 A
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